STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 13

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: OCTOBER 2, 2024 AT 2:00 PM

CONTRACT ID: 12141281

WBS ELEMENT NO.: 13.101220, 13.101240, 13.105920, 13.105940, 13.106120, AND

13.108120

FEDERAL AID NO.: STATE FUNDED

COUNTY: BURE

BURKE, MCDOWELL, MITCHELL AND RUTHERFORD

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: GUARDRAIL, GUIDERAIL, AND FENCE INSTALLATION,

REPLACEMENT, AND REPAIR UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF DIDDED

1104 American Drive. Dakboro NC 28129-6700

ADDRESS OF BIDDER



NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **BID FORM**

Contract Number: 12141281

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13.101220, 13.101240, 13.105920, 13.105940, 13.106120, and

Description:

Guardrail, Guiderail, and Fence Installation, Replacement, and Repair

Line		· -		1	Unit	Amount
No.	Sect	Description	Qty	Unit	Price	Bid
			107			
1	SP	Non-Functional Mobilization	125	EA	\$ 100.00	\$ 12,500.00
2	SP	Urgent Non-Functional Mobilization	2	EA	\$2,495.00	\$ 4,990.00
3	SP	Impact Attenuator, Type TL-3	2	EA	\$ 9,850.00	\$ 19,700.00
4	862	Steel Beam Guardrail	1,000	LF	₽111'00	\$ 44,000.00
5	862	Steel Beam Guardrail, Shop Curved	1000	LF	\$ 44.00	\$ 44,000.00
6	862	Steel Beam Guardrail, Double Faced	-500	LF	ф 49.00	\$ 24,500.00
7	862	Triple Corrugated Steel Beam Guardrail	200	LF	\$ 41.00	\$9,400.00
8	862	Steel Beam Guardrail Terminal End Sections	4	EA	\$ 65.00	\$ 260.00
9	862	20" Tubular Triple Corrugated Steel Beam Guardrail	100	LF	\$ 195.00	\$ 19,500.00
10	862	W-TR Steel Beam Guardrail Transition Sections	20	EA	\$ 425.00	\$8,500.00
11	862	25' Clear Span Guardrail Sections	5	EA	\$150.00	\$3,150.00
12	862	Extra Length Guardrail Posts (8' Steel)	200	EA	\$ 60.00	\$ 12,000.00
13	862	Extra Length Guardrail Posts (10' Steel)	10	EA	\$ 85.00	\$850.00
14	862	Extra Length Guardrail Posts (12' Steel)	10	EA	\$95.00	\$ 950.00
15	862	Additional Guardrail Posts	400	EA	\$ 40.00	\$ 16,000.00
16	SP	Guardrail End Units, Type Buried in Cut	4	EA	\$5,150.00	\$ 20,600.00
17	SP	Guardrail Anchor Units, Type III Modified	4	EA	\$1,900.00	\$ 7,600.00
18	862	Guardrail End Units, Type AT-1	10	EA	\$ 400.00	\$4,000.00
19	862	Guardrail End Units, Type CAT-1	10	EA	\$400.00	\$4,000.00
20	SP	Guardrail Anchor Units, Type III	8	EA	\$ 1,900.00	\$ 15,200.00
21	SP	Guardrail End Units, Type TL-3	100	EA	\$3,200.00	\$ 320,000.00
22	SP	Guardrail End Units, Type TL-2	2	EA	\$3,000.00	\$6,000.00
23	SP	Guardrail End Units, Type Median TL-3	2	EA	\$ 100,00	\$ 200.00
24	862	Guardrail Anchor Units, Type B-77	4	EA	\$ 1,900.00	\$ 1,600.00
25	862	Guardrail Anchor Units, Type B-83	4	EA	\$ 1.900.00	\$1,600.00
26	864	Remove and Reset Existing Guardrail	1,000	LF	\$19.00	\$19,000.00
27	863	Remove Existing Guardrail	1,000	LF	\$ 17.00	\$ 17,000.00
28	865	Additional Guiderail Posts	200	EA	\$ 165.00	4 33,000.00
29	865	Cable Guiderail Anchor Units	2	EA	\$400.00	\$800.00
30	866	Woven Wire Fence, 47" Fabric	2,500	LF	\$8.00	\$ 20,000.00
31	866	4" Timber Fence Posts, 7'-6" Long	25	EA	\$ 15.00	\$315.00
32	866	5" Timber Fence Posts, 8'-0" Long	150	EA	\$ 15.00	\$ 2,250.00
33	866	Chain Link Fence, 60" Fabric	100	LF	\$34.00	\$ 3,400.00
34	866	Chain Link Fence, 84" Fabric	250	LF	\$36.00	\$ 9,000.00
35	866	Metal Line Posts for 60" Chain Link Fence	10	EA	\$ 50.00	\$ 500.00
36	866	Metal Line Posts for 84" Chain Link Fence	25	EA	\$ 50.00	\$1,250.00
50	300	Wicker Enter 1 0505 for 64 Chant Enter Perice	23	1,72 1	14 50.	ויטורין דין

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION

Contract Number:

TIP Number:

FA Number:

WBS Element:

Description:

Guardrail, Guiderail, and Fence Installation, Replacement, and Repair

Line No.	Sect	Description	Qty	Unit	Unit Price	Amount Bid
37	866	Metal Terminal Posts for 60" Chain Link Fence	5	EA	\$50.00	[♣] 250. [∞]
38	866	Metal Terminal Posts for 84" Chain Link Fence	2	EA	\$ 50.00	\$100.00
39	866	Additional Barbed Wire	500	LF	\$ 1.00	\$ 500.00
40	866	Metal Gate Posts for 60" Chain Link Fence, Single Gate	5	EA	\$ 50.00	\$ 250.00
41	866	Metal Gate Posts for 60" Chain Link Fence, Double Gate	5	EA	\$ 50.00	\$ 250.00
42	866	Single Gates, 60" High, 4' Wide	5	EA	\$400.00	\$ 2,000.00
43	866	Double Gates, 60" High, 8' Opening, 16' Wide	5	EA	\$ 450.00	\$ 2,250.00
44	866	Double Gates, 60" High, 10' Opening, 20' Wide	5	EA	\$500.00	\$ 2,500.00
45	SP	Steel Beam Guardrail, Rail	7,500	LF	\$34.00	\$ 255,000.00
46	SP	Steel Beam Guardrail, Shop Curved, Rail	525	LF	\$ 38,00	\$ 19.950.00
47	SP	Steel Beam Guardrail, Block	300	EA	\$15.00	\$ 4,500.00
48	SP	Steel Beam Guardrail, Typical End Shoe	4	EA	\$ 45.00	\$ 180.00
49	SP	Triple Corrugated Steel Beam Guardrail, End Shoe	4	EA	4 45.00	\$ 180.00
50	SP	Steel Beam Guardrail, Buffered End Section	5	EA	\$ 150,00	\$ 150.00
51	SP	Triple Corrugated Steel Beam Guardrail, Rail	100	LF	\$ 38.00	\$ 5,800.00
52	SP	Additional Guardrail Posts, Weakened	10	EA	\$ 5.00	\$ 50.00
53	SP	Steel Beam Guardrail, 2'-1" Height Transition	2,500	LF	\$ 23.00	\$ 51,500.00
54	SP	Steel Beam Guardrail, Double Faced 2'-1" Height Transition	1000	LF	\$ 32.00	\$ 32,000.00
55	SP	Steel Beam Guardrail, Shop Curved 2'-1" Height Transition	130	LF	\$ 44.00	\$ 5,720.00
56	SP	Additional Delineators	150	EA	\$1.00	\$ 150.00
57	SP	Guardrail Post Box Culvert Anchor Unit	10	EA	\$ 500.00	\$ 5,000.00
58	SP	Painted Galvanized Steel Beam Guardrail	100	LF	\$ 48.00	4 4.800.00
59	SP	Painted Galvanized Triple Corrugated Steel Beam Guardrail	25	LF	\$ 55.00	\$1,315.00
60	SP	Painted Galvanized Steel Beam Guardrail, Shop Curved	50	LF	\$ 48.00	\$2,400.00
61	SP	Painted Galvanized Guardrail End Units, Type TL-3	2	EA	\$3,800,00	\$ 1,600.00
62	SP	Painted Galvanized Guardrail End Units, Type AT-1	2	EA	\$ 650.00	\$1,300.00
63	SP	Painted Galvanized Additional Guardrail Posts	10	EA	\$115.00	\$1,150.00

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **BID FORM**

Contract Number: 12141281

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13.101220, 13.101240, 13.105920, 13.105940, 13.106120, and 13

Description:

Guardrail, Guiderail, and Fence Installation, Replacement, and Repair

Line No.	Sect	Description	Qty	Unit	Unit Price	Amount Bid
64	SP	Painted Galvanized W-TR Steel Beam Guardrail Transition Sections	4	EA	\$650.00	\$2,600.00
65	SP	Painted Galvanized Steel Beam Guardrail, Rail	100	LF	\$ 48.00	\$4,800.00
66	SP	Painted Galvanized Steel Beam Guardrail, Shop Curved, Rail	50	LF	\$ 48.00	\$ 2,400.00
67	SP	Painted Galvanized Triple Corrugated Steel Beam Guardrail, Rail	25	LF	\$ 48.00	\$1,200.00
68	SP	Painted Galvanized Steel Beam Guardrail, Buffered End Section	2	EA	\$400.00	\$800.00
69	SP	Painted Galvanized Guardrail Anchor Units, Type III	2	EA	\$2,000.00	\$ 4,000.00
70	SP	Cable Guiderail, Cable	50	LF	\$3.00	\$ 150.00
71	SP	Cable Guiderail, Cable Splice	10	EA	\$ 1.00	\$ 10.00
72	SP	Cable Guiderail, Turnbuckle	6	EA	\$ 1.00	\$ 6.00
73	SP	Cable Guiderail, Hook Bolt	60	EA	\$ 15.00	\$ 900.00
74	SP	Cable Guiderail, Re-tension	25	EA	\$ 1.00	\$ 25.00

TOTAL BID FOR PROJECT:_	\$ 1,148,671.00	

Contractor: Bullington Construction, Tuc.					
Address: 164 American brive, Dalboro	NC 28129-6700				
Phone: (704) 486 - 0379	Federal Id: 43 - 2051552				
Contractor's License Number: 82893					
Authorized Agent: <u>Leslie Duncan</u>	Title: Vice President				
Signature: Lale Ture	Date: 9/30/24				